
MATHS

BOOKS - JEEVITH PUBLICATIONS MATHS

(KANNADA ENGLISH)

ANNUAL EXAMINATION QUESTION

PAPER - 2019 (NORTH) (WITH ANSWERS)

Part A I Answer The Following Questions

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb


1. Write the following set in roster form A = { x is

a natural number less than 6}

Watch Video Solution

2. If P ={ a, b, c} and Q = {r} , find  .

Watch Video Solution

P × Q

3. Convert  into degrees.

Watch Video Solution

( )
e

7π

6

https://dl.doubtnut.com/l/_5jcXNj5ekmwp
https://dl.doubtnut.com/l/_H6swQTvRn949
https://dl.doubtnut.com/l/_mDCeXSdwb0wj


4. Express  in the form a + ib .

Watch Video Solution

( − 5i)( i)
1

8

5. Evaluate  .

Watch Video Solution

4! − 3!

6. Write the first three terms of the sequence

defined by  .

Watch Video Solution

an = 2n + 5

https://dl.doubtnut.com/l/_mDCeXSdwb0wj
https://dl.doubtnut.com/l/_DNWeHNWQR6IH
https://dl.doubtnut.com/l/_EIgxCLDSaFhB
https://dl.doubtnut.com/l/_0Ii82s7mvu8T


7. Find the slope of the line passing throught

the points (3,-2) and (-1,2) .

Watch Video Solution

8. Evaluate : 

Watch Video Solution

Ltx → 4( )
4x + 3

x − 2

https://dl.doubtnut.com/l/_0Ii82s7mvu8T
https://dl.doubtnut.com/l/_VH9CkpE05MQc
https://dl.doubtnut.com/l/_p9KhThwyxRiO


Part B Ii Answer Any Ten Questions

9. Write the negation of the statement 'Australia

is a continent'

Watch Video Solution

10. A coin is tossed 3 times and the outcomes

are recorded. How many possible outcomes are

there ?

Watch Video Solution

https://dl.doubtnut.com/l/_uoWF2Yw3vCnx
https://dl.doubtnut.com/l/_O2yj4ZfVZEZc


1. If A={3,5,7,9,11},B={7,9,11,13},C={11,13,15} and

, find 


Watch Video Solution

D = {15, 17}

A ∩ (B ∪ C)

2. If X and Y are two sets such that n ( X) =17,n (

Y) =23, and n  find n

Watch Video Solution

(X ∪ Y ) = 38 (X ∩ Y )

https://dl.doubtnut.com/l/_JI9jRAHys0Lj
https://dl.doubtnut.com/l/_ZGJi7NQlzcDj


3. Let f={(1,1),(2,3), (0,-1), (-1, -3)} be a function from

Z to Z defined by f(x) = ax +b, for some integers

a, b. Determine a, b.

Watch Video Solution

4. Find the radius of the circle in which a central

angle of  intercepts an arc of length 37.4 cm

(use )

Watch Video Solution

60∘

π =
22

7

https://dl.doubtnut.com/l/_pTrXvZGfj2Dp
https://dl.doubtnut.com/l/_2DUMhmcqSUgq


5. Find the general solution of cos x  .

Watch Video Solution

= ( )
1

2

6. Solve each of the following equations. 

1. Solve 

Watch Video Solution

x2 + x + 1 = 0

7. The marks obtained by a student of class XI in

the first and second terminal examination are 62

https://dl.doubtnut.com/l/_FtdBjBhK9edW
https://dl.doubtnut.com/l/_wGUHPo7RNOp9
https://dl.doubtnut.com/l/_IKVqh2uekHTA


and 48 respectively. Find the minimum marks he

should get in the annual examination to have an

average of at least 60 marks .

Watch Video Solution

8. Find the equation of the line through the

point (-2,3) and having the slope -4

Watch Video Solution

https://dl.doubtnut.com/l/_IKVqh2uekHTA
https://dl.doubtnut.com/l/_7e74Cl4Vm4eZ


9. Find the distance of the point (3,-5) from the

line 

Watch Video Solution

3x − 4y − 26 = 0

10. Find the co-ordinates of the point P which

divides the line segment joining the points A ( 1,

- 2 ,3 ) and B ( 3 , 4 - 5 ) internally in the ratio 2 : 3

Watch Video Solution

https://dl.doubtnut.com/l/_qFovekdJo9ii
https://dl.doubtnut.com/l/_TIRw6cGwYzbL


11. Evaluate  .

Watch Video Solution

Ltx → 0
√1 + x − 1

x

12. Write the component statement of the

following compound statement and check

whether they are true of false "All prime

numbers are either even or odd"

Watch Video Solution

https://dl.doubtnut.com/l/_z6rGp21HjyKi
https://dl.doubtnut.com/l/_8nzpcwN7lVwB


13. Two series A and B with equal means

standard deviation 9 and 10 respectively . Which

series is more consistent ?

Watch Video Solution

14. A committee of two persons is selected from

two men and two women.What is the probability

that the committee will have (i) no men (ii)two

men

Watch Video Solution

https://dl.doubtnut.com/l/_hHMX0ULqzUAo
https://dl.doubtnut.com/l/_TLN9cLoNV2Gh


Part C Iii Answer Ten Questions

1. Let U = (1,2 , 3, 4, 5, 6),A = { 2, 3} and B = { 3, 4, 5}

. Show that  .

Watch Video Solution

(A ∪ B)' = A ∩ B'

2. Let  be two

functions. Then find 

(i) (f + g) (x) (ii) (f - g) (x) (iii) (fg) (x)

Watch Video Solution

f(x) = x2, g(x) = 2x + 1

https://dl.doubtnut.com/l/_ij9nJcBWgyP6
https://dl.doubtnut.com/l/_VGIYSdz4CI1Z
https://dl.doubtnut.com/l/_5x01WBVLSW3g


3. Prove that : 

Watch Video Solution

tan 3x =
3 tan x − tan3 x

1 − 3 tan2 x

4. Represent the complex number 

in the polar form .

Watch Video Solution

Z = 1 = i√3

5. (ii) If  prove that 

W t h Vid S l ti

x + iy =
a + ib

a − ib

x2 + y2 = 1

https://dl.doubtnut.com/l/_5x01WBVLSW3g
https://dl.doubtnut.com/l/_eZiItONQnAaw
https://dl.doubtnut.com/l/_DYpIZIlLYaTt


Watch Video Solution

6. In how many of distinct permutations of the

letters in the word MISSISSIPPI do the 4 I's not

some together?

Watch Video Solution

7. Find the term independent of x in the

expansion of 

Watch Video Solution

( x2 − ).
3

2

1

3x

https://dl.doubtnut.com/l/_DYpIZIlLYaTt
https://dl.doubtnut.com/l/_ITWv2oOP9vpK
https://dl.doubtnut.com/l/_rUqJqTmZ9lPN
https://dl.doubtnut.com/l/_fXMWEbiVYUB9


8. In an A.P if  term is n and  term is m,

where  find the  term .

Watch Video Solution

mth nth

m ≠ n, pth

9. Find the sum of the sequence 8, 88, 888, 8888, .

. . To n terms.

Watch Video Solution

10. Find the centre and radius of the circle

x2 + y2 + 8x + 10y − 8 = 0

https://dl.doubtnut.com/l/_fXMWEbiVYUB9
https://dl.doubtnut.com/l/_ynPdixXrZlq0
https://dl.doubtnut.com/l/_w6YM1M7DJMoo


Watch Video Solution

11. Differentiate of  w.r.t. x from first

principles

Watch Video Solution

cos x

12. Verify by the method of contradiction that

 is irrational .

Watch Video Solution

√2

https://dl.doubtnut.com/l/_w6YM1M7DJMoo
https://dl.doubtnut.com/l/_rWA3oKi911Gb
https://dl.doubtnut.com/l/_iQOc3fnRZpSE
https://dl.doubtnut.com/l/_EId0RIcP1O5F


13. If E and F are two evetns such that

. Find P(not E and not F)

Watch Video Solution

P (E) = , P (F ) = and P (E and F ) =
1

4

1

2

1

8

14. One card is drawn from a well shuffled deck

of 52 cards. If each outcome is equally likely,

calculate the probability that the card will be (a)

a diamond (b) not a diamond (c) a black card.

Watch Video Solution

https://dl.doubtnut.com/l/_EId0RIcP1O5F
https://dl.doubtnut.com/l/_oBU5HuFyxh0r


Part D Iv Answer Any Six Questions

1. Define a modulus function . Draw its graph.

Also write down its domain and range.

Watch Video Solution

2. Prove that

Watch Video Solution

cos2 x + cos2(x + ) + cos2(x − ) =
π

3

π

3

3

2

https://dl.doubtnut.com/l/_R5qv5biN7llE
https://dl.doubtnut.com/l/_BXGOQtetMbg7


3. 

Watch Video Solution

12 + 22 + 32 + .......... + n2 =
n(n + 1)(2n + 1)

6

4. Solve the following system of inequalities

graphically : 

Watch Video Solution

5x + 4y ≤ 20, x ≥ 1, y ≥ 2

https://dl.doubtnut.com/l/_hybJOB5UsyDg
https://dl.doubtnut.com/l/_Vdbhmoa0Y7OA


5. A group consists of 7 boys and 5 girls . Find

the number of ways in which a team of 5

members can be selected so as to have atleast

one boy and girl.

Watch Video Solution

6. State and prove Binomial theorem for a

positive integer index.

Watch Video Solution

https://dl.doubtnut.com/l/_OasID72H6Ihs
https://dl.doubtnut.com/l/_FwfCQvItTJox


7. Derive the equation of a straight line having

the intercepts 'a' & 'b' on the X ane Y-axes

respectively. Hence find the equation of the line

intercepts -3 and 2 on the X and Y-axes

respectively.

Watch Video Solution

8. Find the distance between two points in a

three dimensional plane and hence find the

distance between the points P(-2,3,5) and

Q(1,2,3).

https://dl.doubtnut.com/l/_OJIRc3cBSXdI
https://dl.doubtnut.com/l/_nMw5B6asExI8


Watch Video Solution

9. Prove that  ( x being

measured in radians )

Watch Video Solution

Lim
x → 0

= 1
sin x

x

10. Find the mean for the following data 

Watch Video Solution

https://dl.doubtnut.com/l/_nMw5B6asExI8
https://dl.doubtnut.com/l/_6fblmapu6bU7
https://dl.doubtnut.com/l/_pkp4G4bbMk7D


Part E V Answer Any One Question

1. prove that

Watch Video Solution

cos(A + B) = cos A cos B − sin A sin B

2. Find the sum of 'n' terms of 1.2

+2.3+3.4+4.5+……

Watch Video Solution

https://dl.doubtnut.com/l/_SQ95PhPHe5i2
https://dl.doubtnut.com/l/_fKS2v3mc29QV


3. (a)Define a parabola and derive its equation in

the standard form 

Watch Video Solution

y2 = 4ax

4. (b) Find the derivative of  with

respect to x.

Watch Video Solution

x5 − cos x

sin x

https://dl.doubtnut.com/l/_gIASy8r72Ekq
https://dl.doubtnut.com/l/_wf8WmCzAWuhP

